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B.B.A. (Part-IT) EXAMINATION, 2023

(10+2+3 Pattern) _
(Faculty of Commerce) 101825
BACHELOR OF BUSINESS ADMINISTRATION W

First Paper

)

[Strategic Management]

Time Allowed : 3 Hours Maximum Marks : 100 :
g : 3T AferRan 37 : 100 '

No Supplementary answer-book will be given to any candidate. Hence the candidates should write their answer
precisely in the main answer-book only.

ferdit ot TAEITelT 1 R STR-GFRaen] Tl &1 g 1 37 qenfefal 71 TRT fF 3 g7 IoX-Yhas! 8 g gae Jed & I
fod't o

All the parts of one question should be answered at one place in the answer-book. One complete question should not

be answered at different places in the answer-book. -

et ot w5 3 ST Y T P T 3 3, S g  STer- 37 € T 6 9 %5 A O A WA
F o ' “
Write your roll number on question paper before start writing answers of questions.

g9 & IR fo7E @ qF F7-99 W AT T 37T frd | :

Attempt any five questions in all, selecting one question from each Unit. All questions carry equal marks.

yF 57E 9§ O U ¥9T FX0 g el el J¥ 6 HA & T IO & HH G 6 |

UNIT -1 /35 -1

What do you mean by Strategic Management ? Define the role of Strategic Management.

e Yoy T T T & ? IR T & yfiTeht g Hifer |
: OR / 319aT

Explain the components of organisational mission. How the mission and objectives formulate ? Explain.

T favA & A Y e | wen § R o Seed S S e €2 e |

UNIT -11/3E - 11

. What do you mean by Environmental Scanning ? What is the need of environmental scanning ?
et S § T AR ¥ 2 Tatariy i 1 o ST € 2 WA |
OR / 3gar

Explain the dynamics of internal environment in detail.

affafir araTaRe o T AR w9 8 HEd |
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UNIT - I11 / 3aT§ - 11
'8 ? Explain the major steps

3. What do you mean by Strategic formulation ? What are its basic element

to execute strategic formulation.
I TRl 31T R FH € 2 TG W@ T FNE ? Wﬁmwm?ﬁaﬂm%#mqﬁ

=0 qHEEA |
OR / 3T

Define the Analytical approach to evaluate Corporate strategy.

mmmwwtmﬁmmml

UNIT -1V /3&Tg -1V

\/I‘Explain the major issues in Strategic implementation.

SR % T ¥ e TR e |
: OR / F¥a1
What are the targets of Organisational Change ? Explain the main causes of Organisational Change.

T TR e TS 2 WS UREd % W v W |

UNIT -V /3@ -V

\/ What do you mean by Strate gic Evaluation ? Explain the cnterlas for evaluatlon of strategy.
Wémwmﬁ% ? W*W*WW@'
OR / 39T
What is Strategic Control ? Explain the main types of Strategic Co_ntrol.\ -
SR FE F 7 2 R Pl F e TR e
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BBA (Part - II) EXAMINATION, 2023
(10+2+3 Pattern) 101817
(FFaculty of Commerce)
BACHELOR OF BUSINESS ADMINISTRATION
Paper : 11
(Marketing Management)

Time Allowed : 3 Hours "Maximum Marks : 100
gmr : 3 HS - FAfYHad 3 : 100
Attempt any five questions in all, selecting one question from each Unit.

Y% 1% 3 O U J97 FXa §T HeT Wi J97 67 I B/

No Supplementary answer-book will be given to any candidate. Hence the candidates should write their answers
precisely in the main answer-book only.

feat ot WieeT w1 Wb Io- Y&l 761 &1 S | 37: TS B =0ET o 3 geq Sow-yfiae 4 & Ga&d g9 & Ia -
g : ' '

All the parts of one question should be answered at one place in the answer-book. One complete question should not
be answered at different places in the answer-book.

15+ T F97 & Sl g8 1T fafy=1 Jel & Iu%, IoR-YRamT B STerT-37chT T T 6 F:03 & 9979 U & @
R & B _ ;
Write your roll number on question paper before start writing answer of questions.

¥¥l & I forE O qF Jo7-99 W AT TR 99T [ E |

UNIT -1 /% -1
Define Marketing and also discuss its nature.
fauor =1 aftnfia 1SR T 0 Yoid 9 = Fifed |
OR / 3tgqar

5+15

Write short notes on the following :
(@) ,Product differentiation
Product life-cycle

10+10

Frefafes w wfea fewxfor fafea ;- »
@@ 3R faudem
b) IR SET-TF

UNIT -11 /5T - 11
 What do youmean by Marketing Research ? Explain the importance of Marketing Research.
oo ¥4 4 <9 2o A € 2 Foraom e o ee 9 weEd |

OR / 3terar
Define channels of distribution. Explain the types of channels of distribution.

feraor A &1 wfvafug =5fm | fereron meai & wermi o e |

5+15

5+15
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UNIT - 111 /3ehtg - TII

‘)_‘/ What do you mean by Price ? What factors to be considered in Pricing ? Explain. 5+15
Fr & 3 e &2 AP 3 o e A o e g ? T |
OR / 3teq@ar
10+10

Write short notes on the following :
(@) Break Even Analysis ‘
y/ Market Segmentation

. fiyfafes w gy feafoal fafa :
@ Tu-farede favdor
T ) e fasfRe .

UNIT -1V /3&T§ -1V

/ Define Personal Selling. Describe its characteristics. 5+15
- Fafaer fasra A i R | Fae fawael 1 9 |
: OR / 3t
Discuss the essentials of good advertising copy. 20
T Tt e Wi & navae 7 Sand |
UNIT -V /3%t -V
- B What is Marketing Control ? Discuss the techniques of Marketing Control. 5+15
farqor o S 2 foravE Frsn @ qeReTl i T |
OR / A¥dl
Write an essay on “Marketing audit”. 20
“fagur Fiffee’’ W T ey fafael
-00o0-
¢ W%
2
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B.B.A. (Part-1II) EXAMINATION, 2023
(10+2+43 Pattern) 101430
(Faculty of Commerce)
BACHELOR OF BUSINESS ADMINISTRATION
Paper : 11
(Human Resource Management) a4

Time Allowed : Three Hours » Maximum Marks : 100
|94 : 3 W Afushan 3 : 100

Attempt any five questions in all, selecting one question from each Unit. All question carry equal marks.

Y% 393 4 G U J¥7 30 §C F UTel 97 56 F3 &/ G q97 & 3 G |

No Supplementary answer-book will be given to any candidate. Hence the candidates should write their answers
precisely in the main answer-book only.

Fot s el 31 e -k el S St 3: v 7 e 5 g v gﬁawﬁé?mmakm i
faa’t i '

All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book.

waﬂww%aﬁvﬁz@wﬁfwmwm FT-GI&TT § 376777~ WWWWW%WWB?WW :
FTHN . :

Write yourroll number on questton paper before start writing answers of questions.

m%mﬁ@#@ﬁm—wwﬁammﬁf@/
UNIT -1/ &g - 1

\/l/ Discuss the need and importance of human resource managemeﬂt.
TS THEA YeieA 1 avashal 3 Aee W == H{ |
- OR/3YUAT

Examine new emerging environment, trends and future of HRM in India.

I A T 9 9fEw, ygfaal 3ft T 9T w0 & ufass &1 S| i)

UNIT-1I/ 3a&ht8 - 11

Write notes on the following :
@) Human Resource Plamnng

‘,(x)’ Recruitment

frafafaa w fexfumi fafau :
@)  WFa g Qe
@ ot

OR/3T¥4AT
Define ‘Induction’. Explain its objectives and benefits.

‘wawr' &l Rt Y1 3HF IRy o @l it =TEm wit )

203 1 P.T.O.
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UNIT - 111/ 3a&hTs - 111

Discuss the tools and techniques of Carcer Development.
S ForerT S ST 3R AR R A w |

OR/ATIAT
How does training differ from development ? Discuss the role of training and development in the

present business environment.

oo, forra @ T TR 1 ¥ 2 e st wer § wivemn stk forr 26 sffereh R == B

UNIT-1V/ &3 - IV

What do you mean by Performance Appraisal ? Discuss its process and objectives.
fiTeqe e § 7Y 1 qHEd €2 sﬂaﬁmaﬂttﬁwaﬁﬁaﬂﬁﬁm
OR/AYAT

Define ' Executive Development " Discuss the various methods of executive development.

et e r aftenfim Y | i fam o fafvm el W ==t w6

UNIT-V/ S&E -V
What do you understand by “‘Leadership'' ? Discuss the different style of leadership.

“ﬁaﬁ”@mwm%7 ﬁqaaﬁﬁfwmmaafm
OR/31ET

Write notes on the followmg ,
@ ~ McGregor's Theory. X and The ory ey

@) - - Measuresto bu]ld up Employee Morale

© i fagr T aﬂtﬁq@a Eni' S e e G RS
G) HHERE @l Ted 9gM F 3IE S Sk ,
-00o0-
2
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BBA (Part-IT) EXAMINATION, 2023

(10+2+3 Pattern) 101 620"
[ Faculty of Commerce]
BACHELOR OF BUSINESS ADMINISTRATION
- Paper:IV
(Business Finance)
Time Allowed : 3 Hours _ Maximum Marks : 100
g : 3§ : FfysHad 37 : 100

Attempt any five questions in all, selecting one question from each Unit.

| 9% 5HE 7 @ U T 79 5T W!ﬁwmaﬁmﬁf
No supplementary answer-book will be given to any candidate. Hence the candtdates should write their answers
precisely in the main answer-book only.

fegt 4t TR # [/F I~ yﬁ?ra;/?a?a"l‘mw?/ 37d: qﬁem’a'zr‘ra#an%(rfm"a’g@m gﬁaw#ﬁmmé;am \
&

LAl the parts of one question should be answered at one place in the answer-book One complete question should -
not be answered at different places in the answer-book.

fa st F¥9 % 3=l §e U 911 §99) & T, m—gﬁw#w—mwﬁwwwﬁ#mw#mw'
BT F/

Write your roll number on question paper before start writing answer of questions.

F¥l & I e § g FvT-97 W AT TR 37ae ferd | :

UNIT-1/3a18 -1
/ Explain the concept of finance. Explain the different approﬁches of finance function. ! 5+15
far 1 STauRoN 1 W Fifed | o g i fafv= faarumst 1 e i)
OR/AYAT
“Finance is the Life blood of Industry”. Elucidate this statement with suitable illustrations. 10+10

“fo 3T 1 SaT WA &' | 39 FYA 1 IS0 Tigd SATe S |

_UNIT-II /318 - 11

.‘ - .
/ What do you mean by Financial Management ? Discuss the objectives of Financial Management. 5+15
foxda way @ @19 71 Taga €7 faia yera & SRyl 9 faamm st
OR/3AAgAr

What are the functions and responsibilities of a modern finance manager ? 10410

U ayfie foa yorus & =/ w@ <ifac wr & 7

204 . 1 P.T.O.



UNIT-III/W?-HI 5enn cdaoa Tount aortesup eid T

: . . 284
'_/3./ What is a financial plan ? Explain the characteristics of a sound financial plan, £ 5+15
S A fawia ASE & qar) s | |
‘ v‘ '»" i } E "_‘-‘ “. ;:';;“}a‘.ﬁ.x;‘f;:.' ‘.2 ’L;‘-h _.»:*_v;—fﬁ'\ ¥ -“‘:‘. :". o o B A
‘ e NOR /QTUT A s
. ¢ "‘-.""‘ i g g ’-:‘ 3 i ¥
The Capital Structure of Mrinal Limited is as follows : 20
o fafies = Goit weam fe yam §
‘ T
Equity Shares (¥ 10 each) 20,00,000 _
Retained Earnings 10,00,000 3
9% Preference Shares ( ¥ 100 each) 5,00,000
12% Debentures (% 100 each) 15,00,000
Total |50,00,000

The equity shares of the company sales for Z 30. Itis expectéd that company will pay dividend of ¥ 3
per share this year. Corporate Tax Rate is 35%. Assume 30% as Income Tax Rate of indjviflual

shareholder. Compute a Weighted Average Cost of capital of existing capital structure.

<P o T 7 SR 2 30 R o ¥ 1 e g g € 3 W s s fd W i S i
S E T 35% ¥ SIITEH FY ST ST BT 30% HAA §C HE i fernr Il S A MR
3 T 1 it | | : o

UNIT-IV /SFE-IV

/ Explain the concept of Working Capital. Discuss the determinants of Working Capital. 5+15
rdier e T TR g A | wrdeier o ) P e e el 8 fedr
OR/aTeraT e
Write short noteson: ‘
()  The various ways of improving efficiency in cash collection and disbursement. 5+5 ’

) Calculate EOQ from the following informations : 10

(@ Annual consumption of raw materials 2000 units
(b)  Cost of placing an order T30

(© Annual cost of storing one unit I3
Hfem feoforal fafad :
@ T Haew uE e § e an & fafie i)
@) P gEeh @ fra ordt oTRw WO A Hifd

(@) el A o afdes 9 2000 THEA

(®) fa AR <7 Ard X 30

MO T T 3 YIS T A A €3
) ‘
204 \\ ' 2
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UNIT -V /38 - V

rs 7, 000 and 9, 000 units and incurred a loss of X 10,000 angq

Ashmi Litd. sold in two successive yea
runitis¥100.

"‘ _earnedi 10,000 a8 proﬁt respectively. The sellmg pnce per unitis T100 S T47ag
s fafee 3 ﬁr*safm

i -ul SE I
,,,,,

aﬂﬁ#oootagooommﬁmm%amm % 10,000 1 T g
% 10,000 1 Y A fofal T wftr g forsea YEA T 100 B 1

Calculate :

TUTAT SHHTA

(@ The amount of Fixed Cost

()  The Number of Units to Break-Even, and

(© The number of units sold to earn a profit of T 50,000
S - OR/a7erar

“Leverage 7 How would you compute the degree of operating and financial

What is meant by term
5+8+7

leverage ? Explain with suitable example.

e 1 R 2 qﬁmﬁqﬁﬁﬁﬂaﬁaﬁaﬁmmmmﬁﬁ? IETETY T TR |

~-00o0- L 2%
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= -(Facﬁltyof Commerce)
BACHELOR OF BUSINESS ADMINISTRATION

(Quantitative Techniques for Management)
Paper:V
Time Allowed : 3 Hours , Maximum Marks : 100
g 3 W e ffbreRa 34 : 100
Attempt any five questions in all, selecting one question from each Unit. .
TIF 3T 5 0 U J¥7 34 §U, el Wl ¥ 67 F07 &

No Supplementary answer-book will be given to any candidate. Hence the candidates should write their answers
precisely in the main answer-book only.

Feslt st Wiiell 1 W - YT 7e) & | a7 wanef @ AR o 3 ged Sy 4 6 qved 5 & T
g |

All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in answer-book.

Weﬁwm#mﬁwﬁﬁmmﬁm mg@wﬁm—mmwmm%mﬁﬁmw
TR

Write your roll number on question paper before start writing answers of cjuestions.

Yo & I for@ § {3 Fe7-97 R 0 TR 7av fo1@ |

UNIT-1/3a8 -1

1.  Whatis meant by Quantitative Techniques ? Explain the limitations of Quantifative Techmques. 5+15
wfmToTe fafedi ¥ 39 0 wHe & 7 oRwronerss gfafy i g e fafa | '

OR/3YaT

(8) What is the chance that a leap year selected at random will contain (i) 53 Sundays, 20
(ii) either 53 Sundays or 53 Mondays, (iii) either 53 Sundays or 63 Fndays

(b)  Inathrow of two cubical dice, find the chances of getting a total which is divisible either by 2 or 3.

(@ {9 MUR W g7 T TF afuad F (i) 53 Waan, Qi) T @ 53 IHER W 53 WER,
(idi) 1 A 53 TR A1 53 YFHAR B 1 WA R

(b) SRR T & b T & S & 2 A 3 W W R ) Wi s

205 1 - PI.0.
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UN'IT-II/EEEI?— II

. A manufacturer makes two types of products viz., table and chair with the help of two machines. First
machine can work for 30 hours while machine second can work for 24 hours. To make a table
machine I must work for 2 hours while machine 1l must worlk for one hour. Similarly, to make a chair
one hour of machine 1 and 2 hours of machine 11 are needed. If manufacturer makes a profit of ¥ 4on
each Table and Z 3 on each chair, find how many tables and chairs should be manufactured to maximize

the profit.

oo T < SR 36 S e e et Q) Al ) W @ S | Vet 7Yl W 30 0 o 7 IHer
%wwﬁwﬁmz‘ta@mwwéumﬁa(Xl)aa’rﬁmmﬁéﬁmqﬁwﬁ?mawm
T B & T T FRIA TR T 50 Sl Bl B € | =} ST el T (X2) ) TR e forg Teed
TS T T e S HE T U 1 O S ¥ A T 4 T A A 3 fa T STAH B |
frefen Rt 3R e foret et s Forer o arferehae €1 T 2

OR/AYAT

What is the difference between decision making under uncertainty and risk ? Explain the various

decision criterion under uncertainty.

Sfeaaar 3 | SitEm #1 feufa § fofg oF § o7 s 8 2 Sfafoaaar 1 feafa #f fafir frofam waifedi =0
A ' :

UNIT - I1I / S8 - 111

A Company produces four kinds of dolls A, B, C and D. The monthly supply is 70 units, 40 units,
90 units and 30 units respectively. These dolls are sold through four stores P, Q, Rand S. The monthly
demand is 40 units, 50 units, 60 units and 60 units. Profit per unit of dolls sold to each of the stores s

given below :

us Fw 9K TER 1 Redl A, B, C 91 D ST € Tga A gid 70 THE, 40 3HE, 90 THIE A
503 &1 F feard =i P, Q, R S % G S St € | wifeh Wi 40 3HE, 50 IHE, 60 IHE
qGT 60 THE & | WA A A TH BN E : .

Stores
P Q R S
95 80 70 60
Dolls 75 65 60 50

70 45 50 40

o a w »

60 40 40 30

Suggest optimum policy schedule and the profit relevant.

SR ifd %1 g 0 vd FrEfad @M 96 Hiee )

OR/3Agar

20

10+10

20

Explain the utility of PERT technique. What is dummy activity ? Why is it used ? ' 10+5+5

TS AT 1 STAIT TEeEe | el fRa N ¥ 7 W A Iuhm w4l o e €2

2



UNIT- 1V /& -1V

/ What is game theory ? Throw light on the importance of game theory. 6+14
. O fagia #1 %? G fogid & 7 Wy Sifen|

205

& A St weiten S w1 i wen)

OR/3A¥AT

[n a railway marshalling yard, goods train arrive at a rate of 30 trains per day. If the distribution of
arrivals is Poisson and that of service time is exponential with an average 36 minutes, then find :
) The mean queue size (line length) 5+56+5+5
B The probability that the queue size exceeds 10
Sor Probability of finding at least 1 train in the quoue
(d) The railway board will install a second platform if waiting time of a train exceeds 3 hours. By
how much the flow of trains be increased to justify the demand of second platform.
T YT ¥ fomme A F wfafe sivaa w9 @ 30 mieay ot § 1 afs s o1 s Wi de 9 o3 e g
FT HS TEIHIT F7 B AR T M 1 fonigg w3 A 36 e @ & & 70 Fifere oV
. , o-
& R S 10 | e 8 ) e
\9/ FAXH FH Y FH 1 37 81 61 GeeAT |
@ el 1A # o =t sfwa X H St i H TR qF TF 7 WewH H T F 6 F
T | 10 1S T 370 QI i el i i TR 21 afs e 1 Weiten 9ea 3 wue ¥ afus 9

UNIT -V/3&E - V

The automobile Company manufactures around 150 scooters. The daily production varies from 146to 20
154 depending upon the availability of raw materials and other working conditions.

ek SATAHEIEA FEAT 150 THeX SR § | 39hT WA 61 Seared 146 ¥ 154 F <9 Tl § 991 98 F= A
w1 ST qen o7 feafaa w fft e €1 '

Production per day Probability

146 0.04

147 0.09

148 0.12

149 0.14 | : ‘
150 0.11 ‘ N

151 : - 0.10

152 0.20

153 0.12

154 10.08

The finished scooters are transported in a specially arranged lorry accommodating 150 scooters. Using

following random numbers - _
80, 81, 76, 75, 64, 43, 18, 26, 10, 12, 65, 68, 69, 61, 57

Simulate the process to find out : oy '
(i)lm What wpi.ll be the average number of scooters waiting in the factory ?

ii i ber of empty space on the lorry ?

(1 What will be the average num ‘
ﬁzinqzﬁﬁrqaﬁmwﬁm,maﬁmwom@%ﬁmﬂmm%l anah! fre ages® ot fed
mE:

80, 81, 76, 75, 64, 43, 18, 26, 10, 12, 65, 68, 69, 61, 57

aqean  avm w fE A we:

@) ﬁa@ﬁuﬂaﬂmﬁm@zﬁ\ kit

() @ H edrEdd Eel @&
OR/ 3rgan 5+15

ment ? Describe various replacement situations.

What is replace ;
et o o 3 % 7 it e a7 Ao
-00o0-
3
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B.B.A. (Part-II) EXAMINATION, 2023
(10+2+3 Pattern) 100017

[ Faculty of Commerce |

BACHELOR OF BUSINESS ADMINISTRATION

(Managemeént Information System)
Paper: VI

Time Allowed : 3 Hours e Maximum Marks : 100

9y

3 W : FAfereRan & : 100

Attempt any five questions in all, selecting one question from each Unit.

Y% 337 4 @ U 599 Xd §T T Wel I97 86T I3 6/

No Supplementary answer-book will be given to any candidate. Hence the candidates shoulid write their answers

precisely in the main answer-book only.

Fett Wit emelt ) T FR-gRaw TET @ W1 57 el Y o 3§ TG 4 & Tyl F IR

faad

All the pafts of one question should be answered at one place in the answer-book. One complete question should

not be answered at different places in the answer-book.

fadt 41 U gv F STt Y T fafi=T el & I, IH- Wﬁm—mnﬂ#wmmﬁ%wwﬁmw
gTH )

Write your roll number on question paper beforé start writing answers of questions.

T & I 7@ @ §d F¥7-99 T AT TR v ford |

206

UNIT -1/3eh18 - 1

Define the term ‘MIS’. Explain its significance ‘and impact in the Orgam’zatibn. - 5+15\ %

T T TR ) R i | S Te % geol § Hec 9 YT WHeed | '
OR/3AAYdAT

Discuss the benefits and shortcomings of computer based MIS in detail. _ 10+10

FECIET AU TH TS T F W a7 hivd| bl foeqi & o |

UNIT - 11/ 3oh1E - II

What do you mean by ‘Information’ ? How itis different from data ?. Also discuss levels of Information.
‘AT | oY e € 2 9% SRS W fo R i 2 g o wr Y T | W 5+5+10
' OR/31raT '

Write notes on following : ' 10+10
0] Classification of Information
@) Information Collection Methods

e W feooft fafa .
G) g H R

(i) GO GUEY & qldH

1 _ : P.T.O.
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A \ e
UNIT-111/3ehT8 - 111 "
- Explain the components of DSS. Also discuss difference between MIS and DSS. 10+10
foig eg WoMeh & TEgEl Y qaEd | 97w o7 U 9 FoRy weg womelt § ofat v Hifer |
OR/3AT
What is ‘Decision Support System’ ? Explain role and Importance of DSS in MIS. 10+10

*frofar e ot Bt fef T | Frota weg womeht @ ww a1 T aifire won Tew W e e |

UNIT - IV /3&TE - IV

What is Database Management System ? Explain it in detail. Discuss various Database Models with
proper example. ' 5+15

. STy HAve T v R 2 fowan @ wwesd | fafve Lo wtew 9 s wfed TEeEd

/ Explain the role of MIS in Production Management.

206

OR/3TaT
Writenoteson: | : 5+5+5+5
@' StarTopology ~ () LAN (i) WAN Gv) Orade &
= W feuoft fafad - | : ‘
O wRIANES @ et ) Ows e G e

UNIT-V/T&E -V

20
TH 3 TH &I IS WooF W st W ity |
OR/3AYAT
Discuss the role of MIS in Marketing Management in detail. . : 20

T AT TH 1 Ao yeu # s i fawan @ e

-00o0-



